world
076-000005
pake

Please unscrew all hardware from cushion before assembly.

- (1)X1 2)x1 @X1 (X1 (R) )
e
,\’
LARMLEFTARM
SEAT RARM RIGHT ARM
(5)X1 6)X1

\

Note: Please tighten all arm screws
using allen key before step 6

MECHANISM GAS LIFT BASE
(7)X5

(A)x2 Ommn M8*22 Mechanism Screw

(B)x2 Qm]m] M8*30 Mechanism Screw
(Cx4 [T M8*45 ARM SCREW
O)x4 (Jmmm  M6*30 L-Bar Screw

®xa (O ARMCAP
(FX2 o  ALLENKEY )

CASTERS

p

Insert and loosely tighten all screws. When assembly
is completed, fully tighten all screws before using.
This chair is only intended for sitting. Any other use
will void the warranty.




